é—;:‘:}

Ry

25. I zs,z ¢ DTS SERVOSAVER EXCENTERS )

The Direct Tweak System changes the position of the front shock tower when the car is turning left
or right increasing the weight of the inner wheel producing more steering. The amount the shock
| tower is moved can be adjusted with four excenters from “0” to “1.5”. The “0” excenter has no

8x14x4 effect, so the car will behave as with the standard configuration, and with the 1.5 it will be achieved
M3x6 Flanged the maximum steering which the DTS can brings to the car.
| : | M3x8 1.5 . 1 . 0.5 . 0

| | i i i

: WXG ‘ ® i PS ! O i @)
| ‘ ‘ ¢ ¢ ¢

: Nylock nut | @ LESS

! yfock n STEERING

M3 | MORE ﬁ {As WITH STANDARD
\ STEER,NG CONFIGURATION) /

N\ )
Preload ’ghe Servo- s SERVOSAVER ACKERMANN INSERTS
saver-spring Tmm.
REARWARD® MID ® FORWARD

~
[ S
[ S
-

N :}1mm/

Qr ook os O

8x14x4 Flanged




é—;:‘:}

| 5TEP 27 |  5TEP 48 R

271 21.2 ! |

M3X10
M3x12 |
_ - S | X
H
M3X10

/ I’-\\
s STEERING LINK LENGTH ] 6X10x3

7.5 mm

M4X8

M3x1 M3x12
M4x8 6x10x3 3x10 3



STEP 4]

Do NOT fully tighten the
@ M3x20 screws. M3x27\
|
| 4x8x3
Flanged
|

|
4x8x3 / | |

Flanged\ |

| | 3x6x3

| 3x6x3

é—;:‘:}

STEP 42

M3x8

3x8  3x8x3
Flanged
\ ~
M3x8
~
~
M3x8

Do NOT fully tighten
the M3x8 screws.

Flanged

o o= O

3x6x0.3 M3x8 3x8x3
Flanged



é—;:‘:}

ETEF 43 ETEF 44

* 1- Fully tighten the M3x20 and M3x8 screws showed in the pictures shaded.
2- Make sure that the whole unit should move free without play with the screws fully
tightened.
(1) m3xs
~
~
~ ( @ DTS UNIT )
DETAIL VIEW
~
~ ©
- J
[ ]
®
M3x8 M3x5




STEP 45

R4

5x10x4

STEP 58

é—;:‘:}

\
_———————
- ~
R

7 ~

~
~~
~~
~
~

~

L T
AP

) 1 PLTS
AY 4 ’ A
Nos 1 \
1 1
\ U

~ 7’

~Sa-

\
5x10x4

R4




